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THE AORIST 3.2.17T0

The aorist is what European grammars call a
group of forms that Panini gathered under the

tense-marker lun, which he teaches for past time
in general.

# They are called the aorist because they generally
correspond to forms so called in Greek.

[E=d]]

sanskrit at uchicago




THE AORIST

(Almost) all aorists are formed in a similar way:

fa-kér$ t\
A
past tense secondary
augment endings
aorist stem
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THE AORIST

Under the larger category of aorists (i.e., a finite
past tense, formed with the augment and
secondary endings, using a different stem from
that of the present) we have a number of different
forms, which represent different ways of forming
the aorist stem:
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THE AORIST
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THE AORIST

You might ask: why do we have eight different
formations? Wouldn't one do just as well? (In fact,
why do we need an aorist at all, given that we
already have several other past tenses?)
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THE AORIST

Historically, aorist forms were used to represent a
particular aspect (i.e., that the action is complete
or punctual, rather than extended in time), but in
Sanskrit there is no real difference in aspect
between the aorist and the other past tenses (the
imperfect and perfect).
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THE AORIST

The specific type of aorist used for a given verb
depends on several factors:

o root structure;

« VOice (active/passive);

« valency (simple/causative).

Generally one form is favored for a particular
verbal root (at least in the active non-causative).
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THE S-AORIST

In this presentation we will focus on what is
probably the most common of the aorist forms,
namely, the s-aorist or sigmatic aorist. It is so
called because the aorist stem forming suffix

Includes an s.
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THE AORIST

AORIST
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THE S-AORIST

There are four s-aorists:

# the simple s-aorist (the default form)

# the s-aorist with /T (often called is-aorist)

# the s-aorist with saK and /T (often called sis-aorist)
# the s-aorist with the thematic vowel (sa-aorist)
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THE SIMPLE S-AORIST

The simple s-aorist, formed with the suffix Panini
calls sic, is athematic. This means that the
endings are added directly” onto the aorist stem,
the vowel gradation of which varies with the
endings.

* Except for endings that consist in a single consonant

(e.g., -s and -{). In these cases, the augment 1
intervenes between the stem and the ending.
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THE SIMPLE S-AORIST

The stem-forming suffix, s, will usually trigger
some internal sandhih. In particular:

# it is retroflexed after RUKI triggers (velar and
palatal stops, -vowels, u-vowels, and r):

a-vac-s-I-t —»
a-nal-s-1-t —»
a-kar-s-1-t —»
a-srau-s-1-t —»

avaksit
anaisit
akarsit
asrausit
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THE SIMPLE S-AORIST

The stem-forming suffix, s, will usually trigger
some internal sandhih. In particular:

# the sis dropped entirely if the root ends in a
consonant and the ending begins with a dental:

a-vac-s-tam ——»
a-vac-s-ta — »
a-ksaip-s-tam — »
a-ksip-s-ta — »

avaktam
avakta
aksaiptam
aksipta
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THE SIMPLE S-AORIST

The stem-forming suffix, s, will usually trigger
some internal sandhih. In particular:

# the sis dropped entirely if the root ends in a
consonant and the ending begins with a dental:

(and also if the root ends in a short vowel:)
a-kr-s-ta > akrta

(these are probably root aorist forms in origin)

[E=d]]

sanskrit at uchicago



THE SIMPLE S-AORIST

For the simple s-aorist, the root takes vrddhih in
the parasmaipadam.

In the atmanépadam, it takes gunah if it ends in J,
1, u, or U, and otherwise remains in the zero
grade.
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SECONDARY ENDINGS
YT

1

Tehdo-H fger EREREEE
TIHYEY: -1-¢ -tam -ub
TG -i-h -tam -ta
SIHYOY: -am -va -ma

MHAUSH

Tehaaq fger EREREEE
UIHYLY: -ta -atam -ata
HIHYIY: ~thab -atham ~dbvam

IO - -vahi -mabi l]ﬂ@i 'l
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THE SIMPLE S-AORIST
qHISH

\

T faaemy CREEEE Y:
TIHYE: dpaksit dpaktam dapaksub K|
qTAYEY: dpaksib dpaktam dpakta
SAIYE: dpaksam dpaksva dpaksma

N
THAUSH

TehaaYq RS CREER

JIIYEY: dpakta dpaksatam dpaksata

HEHYES:  dpakthab  dpaksatham  dpagdhvam

SAAIEY: dpaksi dpaksvahi dapaksmabi [] Q@E il
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THE SIMPLE S-AORIST
qHISH

\

T faaemy CREEEE
JIIYEY: dapaksit dapaktam dapaksub Note:
weEHaes:  dpaksih dpaktam dpakta - Past tense

> augment
SAIYE: dpaksam dpaksva dpaksma
N
IMHAUSH

TehaaYq RS CREER

JIIYEY: dpakta dpaksatam dpaksata

HEHYES:  dpakthab  dpaksatham  dpagdhvam

STHYE: dpaksi dpaksvabi dapaksmabi ” ﬂ@i ”
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THE SIMPLE S-AORIST
WEUEH

TIHYE: dapaksit dapaktam dapaksub Note:
HEHIE: dpaksib dpaktam dpakta - Gradation of
= root vowel
STUTE: dpaksam dpaksva dapaksma
(here viddhih in
- parasmaipadam,
SHTHAYH zero grade in
™ atmanépadam)
JIHIEN: dpakta dpaksatam dapaksat

HEAYES: | dpakthab  dpaksatham  dpagdbvam

SAAYE: dpaksi dapaksvabi apaksmabhi ”Q@E il
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THE SIMPLE S-AORIST
qHISH

\

T faaemy CREEEE
HEHIE: dpaksih dpaktam dpakta - Endings
SAIYE: dpaksam dpaksva dpaksma
N
MAAUSH
TehaaYq RS CREER
JIIYEY: dpakta dpaksatam dpaksata

HEHYeS:  dpakthah  dpaksatham  dpagdbvam

SAAIEY: dapaksi dpaksvahi dpaksmabi [] Q@E il
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THE SIMPLE S-AORIST

IS

=~

Qeheeq fgaerd

dpaksit dpaktam
dpaksib dapaktam
dpaksam dpaksva
IMHAUSH
Tehere-H, [EEEEL
dpakta dpaksatam
dpakthab  dpaksatham
dapaksi dpaksvabi

qgIITH
dapaksub

dpakta

dpaksma

g

dpaksata
apagdhvam

dapaksmabi

Note:
- Endings

* These ones show
-I- inserted
between the stem
and ending!
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THE SIMPLE S-AORIST
WEUEH

TIHYE: dpaksit dpaktam dapaksub Note:
HEHIE: dpaksih dpaktam dpakta - Endings
SAIYE: dpaksam dpaksva dpaksma
* These ones show
- the loss of -s- before
3.||(1.|.-|qu endings beginning
™ with a dental!
JIIYEY: dpakta dpaksatam dpaksata

qEAQRS: | dpakthab  dpaksatham  dpagdbvam

STHILH: dpaksi dpaksvabi dapaksmabi il Q@E il
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THE SIMPLE S-AORIST
qHISH

\

JIIYEY: akarsit akarstam akarsub \/-§
ASTHYET: akarsih akarstam akarsta
STHYEY: akarsam akarsva akarsma
IMHAUSH
e dkrta dakysatam dkysata
AT akrthab akysatham akydbvam
STHIEY: dakysi akysvabi dakysmahi ”g@i []
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THE SIMPLE S-AORIST
qHISH

=~

T feaam JgaaH \/_ a
JIAYEH: anaisit anaistam anaisub Al
AT anaisib anaistam anaista
STHYEY: anaisam anaisva anaisma

N
JTHAUSH

T == JgaaH
TIATE: anesta anesatam anesata
AT aneésthah anéesatham anedbvam

STAHTRN: anesi anesvabi anesmabi ”g@i”

sanskrit at uchicago




THE SIMPLE S-AORIST

Verbs ending in long a or € form their
atmanépadam (but not parasmaipadam) with the
simple s-aorist, and replace their root vowel with i:

Vda a-di-s-ta > adita
a-di-s-thah ——— adithah
a-di-s-i — adisi
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THE IS-AORIST

The is-aorist is just what we call the s-aorist when
the augment / (Panini’'s iT) is added between the
root and the aorist stem forming suffix s.

(Note that the second and third person singular
parasmaipadam endings are not -is-ih and -is-It,
but simply -ih and -it, because the augment /T

cannot occur twice.) El=dl]
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THE IS-AORIST

The roots that take the is-aorist are those that tend
to take the augment /T in other contexts. Rather
than memorizing which roots take it, and which
don’t, you should adopt a “know it when you see
it” approach.

# Or you can study §§331-340 of Muller’s
Sanskrit Grammar for Beginners.
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THE IS-AORIST

The vowel gradation is slightly different because
of the augment, which generally requires a full
grade of the vowel before it. Hence:

# Final vowels (and some roots with medial a) take viddhih
in the parasmaipadam and gunah in the atmanépadam.

# Otherwise, a root tends to take gunah in both the
parasmaipadam and atmanépadam.
ksl
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THE IS-AORIST
qHISH

\

g | abodbit dbodhistam Gl VY
qemmges:  dbodbib abodbistam abadhista
IAYE: abodbisam abodbisva abodbisma
IMHAUSH
TIHYE: abodbista abodbisatam abodhisata

HEHGRY:  dbodbisthah  abodbisatham — abodbidbvam
IAHYE: abodbisi abodbisvabi abodhismabi ”g@i”
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THE IS-AORIST
qHISH

=~

UIATEY: apavit apavistam dapavisub \/_11
HETHYOY: dpavib dpavistam dpavista
ITAHYEY: dpavisam dpavisva dpavisma
IMHAUSH
TIAYRY: dpavista dpavisatam dpavisata
HETHYOY: dpavisthah dpavisatham apavidhvam
STAYLY: dpavisi dpavisvahi dapavismahi ' lg@i ' l
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THE IS-AORIST

IS

{
ThaE-TH, fga=rmm
avadit avadistam
avadib avadistam
avadisam avadisva
IMHAUSH
REEEELE ESERLY
avadista avadisatam
avadisthab avadisatham
avadisi avadisvabi

Sg=H

avadisub
avadista

avadisma

Sga=TH

dvadisata
avadidhvam

avadismabi
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THE SIS-AORIST

A handful of roots add -is- to the root already
augmented with s, forming the sis-aorist:

# \H ‘“play, stay”

# VA9 “bow’
# \TH  “control”
# those ending in 3, like Ve “90”
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THE SIS-AORIST

This formation is limited to the parasmaipadam. In
the atmanépadam they form a regular s-aorist.

The root stays in its full-grade form. The forms are
thus as if from the roots rams, yams, nams, yas, etc.
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THE SIS-AORIST
qHISH

L
ehere-H, fge=r
YIAYEY: ayasit ayasistam
HETHYE: dayasib dyasistam
STHYZ: ayasisam ayasisva

EREERREY
dayasisub
ayasista

ayasisma

V=T
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THE SA-AORIST

The final s-aorist is a thematic conjugation, which
uses the thematic vowel a after the aorist marker
S. The endings are identical to those of the
imperfect (i.e., use third person -an and -anta,
rather than -uh and -ata).

K Note that this form will still be clearly distinguishable from the
imperfect because it has an s.
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THE SA-AORIST 314

This form is used only for verbs that:
-endin s, s, s, or h;
- have amedial /, I, u, 4, r, or I;
- do not take the augment /T.
e.g., Vvi$, \Vdis, Vduh, etc. (Not Vdrs, which takes the
reqular s-aorist.)
The root stays in the zero grade in all these

forms. aksEN
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THE SA-AORIST

IS

\

Qeheeq fgaerd

adiksat adiksatam

dadiksab dadiksatam

adiksam adiksava
IMHAUSH

Thaeqy  fga=m

ddiksata adiksatam
adiksathah adiksatham
adiksi adiksavabi

Sg=H

adiksan
adiksata

adiksama

Sga=TH

ddiksanta
adiksadbvam

adiksamahi
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THE SA-AORIST 7:3:73

Four verbs ending in h (duh “milk,” dih “smeatr,” lih
“lick,” and guh “hide”) optionally take regular s-aorist
endings before atmanépadam endings beginning
with a dental:
vauh  a-duh-sa-ta  » adugdha or adhuksata
a-duh-sa-thah — » adugdhah or adhuksathah
a-duh-sa-dhvam —» adugdhvam or adhuksadhvam
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